Appendix: Function spaces (optional)

213/456

What functions can be used for weak statement:

Galerkin Weak Statement Function spaces

- We first reduce the highest derivative order M = 2m in the strong form (and weighted residual statement) to m in the weak statement.
- ② Next, we observe that the functions should only be in H^m(D). We observed that $H^m(D) \subset C^{m-1}(D)$. In practice, the finite element trial functions that are in C^{m-1}(D) are also H^m(D).

Conventional (continuus) finite element methods:

Strong Form order
$$M = 2m$$
 \Rightarrow
Trial functions are C^{m-1} \Rightarrow ING Pear of C





ડે CAT.AYUONS പ്പ

we need y & y' d be continuous

Fin=F

1D elements

Element types:

- 1D solid bar element.
- Iruss element.

Concepts:

- Global (weighted residual) vs local (element level) perspectives.
- Stiffness matrix.
- Source term; 2.Natural BC; 3.Essential BC, 4.Nodal.
- Nodes, elements, shape function, dof.
- Solution Nodes with more than one dof (truss).
- Element local coordinate system ξ (bar).
- Rotation of element local coordinate system (truss).
- Full stiffness K (free + prescribed dofs) vs (free only dofs) K_{ff} .
- High order differential equations (e.g., C^1 beam elements).
- Multiphysics coupling (beams: axial, bending, & torsional coupling).

225 / 456

We almost always have the following form for weak statement (of self-adjoint problems):



FEM Page 2

$$\begin{split} \vec{b} & \vec{b} = \begin{pmatrix} \psi_{1} & \psi_{2} \\ \psi_{1} & \psi_{2} \\ \psi_{2} & \psi_$$

 $\begin{array}{c} \mathcal{A}(w_1+w_2,u) & \mathcal{A}(w_1,u) + \mathcal{A}(w_2,u) \\ \mathcal{A}(w_2,u_1+u_2) & \mathcal{A}(w_1,u_1) + \mathcal{A}(w_2,u_2) \end{array}$ ঠ৯ have UNC Ì N &W NO

So, for problems with nonlinear response (nonlinear elasticity, plasticity, etc.) the linearity would only be on w and the weak statement would look different.

Let's derive the specific form of stiffness matrix and force vector for a given weak statement: here similar

ſ

We Wh
$$A(w, u) = (w, q)_{\Gamma} + (w, \bar{F})_{N}$$

decrete
set of vegici functions
 $U^{h} = \Phi + \sum_{i \in I} a_{i} \Phi_{i}$
 Φ_{j} satisfies essential BC $\Phi_{j}(X) = \bar{u}(X)$
 $\Phi_{i} = hang. ... + M = \Phi$
 $A(w, u^{h}) = (w, q)_{\Gamma} + (w, \bar{F})_{N}$
 $A(w, u^{h}) = (w, q)_{\Gamma} + (w, \bar{F})_{N}$
Gather kin method \longrightarrow choose averall functions for an and
 $\Phi_{j} = -ihj$

Equation $\# : \rightarrow \omega = \varphi$ $(\phi, \phi) = (\phi, \gamma) + (\phi, F) \qquad (\phi, \phi) = (\phi, \phi) + (\phi, F) \qquad (\phi, \phi) = ($ $\mathcal{A}(\phi_i, \phi_q) + \sum_{j=1}^{n} \mathcal{A}(\phi_i, \phi_j) q_j = (\phi_i, q)_{\Gamma} + (\phi_i, \tilde{F})_{N}$ $\frac{\hat{s}_{i}}{A(\phi_{i},\phi_{j})} = (\phi_{i}, \theta_{j}) = (\phi_{i}, \theta_{i}, \bar{\theta}_{N}) - A(\phi_{i}, \phi_{j})$ $-i\frac{1}{2}\frac{q_{i}}{2} = F_{r} + F_{r}$ - t_{Di} $K_{ij} = \int L_m \left(\int_{i} \int_{i} \int_{i} D L_m (f_{ij}) D L_m (f_{ij}) dv \right) dv$ $K_{ij} = \int L_m (f_{i}) D L_m (f_{ij}) dv$ $K_{j} = \int L_m (f_{i}) D L_m (f_{ij}) dv$ $K_{j} = \int L_m (f_{ij}) D L_m (f_{ij}) dv$ F.n.= F irichled BC self-adjoint PDE -> symmetric K $F_r = \int \begin{bmatrix} \phi_r \\ \phi_c \\ \phi_c \end{bmatrix} q dv$ source term force $F_r := \int \phi_r \rho dv$

D Lm(\$p) dV Dirichted J BC $F_{D} = \mathcal{A}(\phi, \phi_{p})$ nasenial Similar to $k_{ij} : \mathcal{A}(\phi_i, \phi_i)$ A

We can apply equation (*) to spectral methods (e.g. global high order polynomials, sin/cos terms, etc.) or finite element methods.

From here on, we only focus on FEM

FEM Page 6

We first take the GLOBAL approach, that is centered around the notation of basis function (called shape function in FEM) and global dofs

(x loba) Local element - centered hode & shape function contered $\phi_i = N$: Øiyl ez 21 eosy to use ଚ Noy weill tomstin to this later is shape (basis) Ni=¢i function ki Shape functions take a value of 1 at one degree of freedom and zero elsewhere. NU ٩ hz 'n, $\mathbf{r}_{\mathbf{v}}$ n 45 n. ٩_{ڶ٩}١ the moment let's Ignove far 11

let's ignore
$$\varphi_p$$
 for the moment
 $\mathcal{U}^{h}(x) = \mathcal{H}_{h} + a_i \varphi_{1}^{h}$.
 $\mathcal{U}^{h}(x) = a_i \mathcal{N}_{i}(x)$
 $\mathcal{U}^{h}(x) = a_i \mathcal{N}_{i}(x)$
 $\mathcal{U}^{h}(n_{j}) = \begin{cases} 1 & i = j \\ 0 & i \neq j \end{cases}$
 $\mathcal{U}^{h}(n_{j}) = \begin{cases} 1 & i = j \\ 0 & i \neq j \end{cases}$
 $\mathcal{U}^{h}(n_{j}) = \begin{cases} 1 & i = j \\ 0 & i \neq j \end{cases}$
 $\mathcal{U}^{h}(n_{j}) = \begin{cases} 1 & i = j \\ 0 & i \neq j \end{cases}$
 $\mathcal{U}^{h}(n_{j}) = \begin{cases} 1 & i = j \\ 0 & i \neq j \end{cases}$
 $\mathcal{U}^{h}(n_{j}) = \begin{cases} 1 & i = j \\ 0 & i \neq j \end{cases}$
 $\mathcal{U}^{h}(n_{j}) = \begin{cases} 1 & i = j \\ 0 & i \neq j \end{cases}$
 $\mathcal{U}^{h}(n_{j}) = \begin{cases} 1 & i = j \\ 0 & i \neq j \end{cases}$
 $\mathcal{U}^{h}(n_{j}) = \begin{cases} 1 & i = j \\ 0 & i \neq j \end{cases}$
 $\mathcal{U}^{h}(n_{j}) = \begin{cases} 1 & i = j \\ 0 & i \neq j \end{cases}$
 $\mathcal{U}^{h}(n_{j}) = \begin{cases} 1 & i = j \\ 0 & i \neq j \end{cases}$
 $\mathcal{U}^{h}(n_{j}) = \begin{cases} 1 & i = j \\ 0 & i \neq j \end{cases}$
 $\mathcal{U}^{h}(n_{j}) = \begin{cases} 1 & i = j \\ 0 & i \neq j \end{cases}$
 $\mathcal{U}^{h}(n_{j}) = \begin{cases} 1 & i = j \\ 0 & i \neq j \end{cases}$
 $\mathcal{U}^{h}(n_{j}) = \begin{cases} 1 & i = j \\ 0 & i \neq j \end{cases}$
 $\mathcal{U}^{h}(n_{j}) = \begin{cases} 1 & i = j \\ 0 & i \neq j \end{cases}$
 $\mathcal{U}^{h}(n_{j}) = \begin{cases} 1 & i = j \\ 0 & i \neq j \end{cases}$
 $\mathcal{U}^{h}(n_{j}) = \begin{cases} 1 & i = j \\ 0 & i \neq j \end{cases}$
 $\mathcal{U}^{h}(n_{j}) = \begin{cases} 1 & i = j \\ 0 & i \neq j \end{cases}$
 $\mathcal{U}^{h}(n_{j}) = \begin{cases} 1 & i = j \\ 0 & i \neq j \end{cases}$
 $\mathcal{U}^{h}(n_{j}) = \begin{cases} 1 & i = j \\ 0 & i \neq j \end{cases}$
 $\mathcal{U}^{h}(n_{j}) = \begin{cases} 1 & i = j \\ 0 & i \neq j \end{cases}$
 $\mathcal{U}^{h}(n_{j}) = \begin{cases} 1 & i = j \\ 0 & i \neq j \end{cases}$
 $\mathcal{U}^{h}(n_{j}) = \begin{cases} 1 & i = j \\ 0 & i \neq j \end{cases}$
 $\mathcal{U}^{h}(n_{j}) = \begin{cases} 1 & i = j \\ 0 & i \neq j \end{cases}$
 $\mathcal{U}^{h}(n_{j}) = \begin{cases} 1 & i = j \\ 0 & i \neq j \end{cases}$
 $\mathcal{U}^{h}(n_{j}) = \begin{cases} 1 & i = j \\ 0 & i \neq j \end{cases}$
 $\mathcal{U}^{h}(n_{j}) = \begin{cases} 1 & i = j \\ 0 & i \neq j \end{cases}$
 $\mathcal{U}^{h}(n_{j}) = \begin{cases} 1 & i = j \\ 0 & i \neq j \end{cases}$
 $\mathcal{U}^{h}(n_{j}) = \begin{cases} 1 & i = j \\ 0 & i \neq j \end{cases}$
 $\mathcal{U}^{h}(n_{j}) = \begin{cases} 1 & i \neq j \\ 0 & i \neq j \end{cases}$
 $\mathcal{U}^{h}(n_{j}) = \begin{cases} 1 & i \neq j \\ 0 & i \neq j \end{cases}$
 $\mathcal{U}^{h}(n_{j}) = \begin{cases} 1 & i \neq j \\ 0 & i \neq j \end{cases}$
 $\mathcal{U}^{h}(n_{j}) = \begin{cases} 1 & i \neq j \\ 0 & i \neq j \end{cases}$
 $\mathcal{U}^{h}(n_{j}) = \begin{cases} 1 & i \neq j \\ 0 & i \neq j \end{cases}$
 $\mathcal{U}^{h}(n_{j}) = \begin{cases} 1 & i \neq j \\ 0 & i \neq j \end{cases}$
 $\mathcal{U}^{h}(n_{j}) = \begin{cases} 1 & i \neq j \\ 0 & i \neq j \end{cases}$
 $\mathcal{U}^{h}(n_{j}) = \begin{cases} 1 & i \neq j \\ 0 & i \neq j \end{cases}$
 $\mathcal{U}^{h}(n_{j}) = \begin{cases} 1 & i \neq j \\ 0 & i \neq j \end{cases}$
 $\mathcal{U}^{h}(n_{j}) = \begin{cases} 1 & i \neq j \\ 0 & i \neq j \end{cases}$
 $\mathcal{U}^{h}(n_{j}) = \begin{cases}$

In continuous / conventional FEMs unknowns aj's are physical solutions @ dof number j. For bar problem, this is displacement at node j.

Reason for this, is the delta property mentioned above.

$$\mathcal{N}_{i}(n_{j}) = S_{ij} = \begin{cases} l & l \in J \\ O & i \neq j \end{cases}$$

$$n_1$$
 n_2 n_3 n_4
 $n_f = 4$ # valenowns
 $n_f = 1$ # of prescribed defs

Find equations for K, Fr, FN, FD (and Fn) for bar problem

A. Stiffness matrix

$$K = \int L_{m} \begin{pmatrix} N_{1} \\ N_{2} \\ N_{p} \end{pmatrix} D L_{m} (LN_{1} - N_{p}) dV$$

$$= \int L_{m} (N_{1}) D L_{m} (LN_{1} - N_{p}) dV$$

$$= \int L_{m} (LN_{1} - N_{p}) D L_{m} (LN_{1} - N_{p}) dV$$

$$= \int L_{m} (LN_{1} - N_{p}) D L_{m} (LN_{1} - N_{p}) dV$$

$$= \int L_{m} (LN_{1} - N_{p}) \int LV dV$$

$$= \int L_{m} (LN_{1} - N_{p}) \int LV dV$$

$$= \int L_{m} (LN_{1} - N_{p}) \int LV dV$$

$$= \int L_{m} (LN_{1} - N_{p}) \int LV dV$$

$$= \int L_{m} (LN_{1} - N_{p}) \int LV dV$$

$$= \int L_{m} (LN_{1} - N_{p}) \int LV dV$$

$$= \int L_{m} (LN_{1} - N_{p}) \int LV dV$$

$$= \int L_{m} (LN_{1} - N_{p}) \int LV dV$$

$$= \int L_{m} (LN_{1} - N_{p}) \int LV dV$$

$$= \int L_{m} (LN_{1} - N_{p}) \int LV dV$$

